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13.10.5  Module-I of Section-III of Paper-I (Computer Proficiency):

13.10.5.1 Computer Basics: Organization of a computer. Central Processing
Unit (CPU). input/ output devices. computer memory. memory

organization. back- up devices. PORTs. Windows Explorer. Keyboard
shortcuts.

13.10.5.2 Software: Windows Operating system including basics of Microsoft
Office like MS word. MS Excel and Power Point efc..

13.10.5.3 Working with Internet and e-mails: Web Browsing & Searching,
Downloading & Uploading, Managing an E-mail Account. e-Banking.

[3.10.5.4 Basics of networking and cyber security: Networking devices and
protocols. Network and information security threats (like hacking.
virus. worms. Trojan etc.) and preventive measures.




INTRODUCTION & NUMBER SYSTEM
HARDWARE
MEMORY AND MEMORY UNITS
SOFTWARE
MS-OFFICE : MS-WORD
MS-OFFICE : MS-EXCEL AND MS-POWERPOINT
NETWORKING

INTERNET & MALWARE
DBMS & FILE EXTENSION
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@ Which of the follpwing software a}pplicatipn.s would
be most appropriate for performing Statistical and
Numerical calculations:
fAFrfaf@d # @ @ld a1 FFCaIX AU
JEIhT IR J&IIcHAD IUTEAT R & Tl
qay SUg gIaTT:

Document Processor
Graphics Package
Power Point
Spreadsheet <=




To convert paper into an editable document, a
scanner would emp technology

PhTITo] DI Th HU qo1 H dcodd &
forg, U TR deheilch ol Tgh

P

Optical Character
Recognition

» scanning
» Conversion
> OCR €=

> MICR




Which of the following is Toggle key?
ST Soll AFATiad H 4 Bl T g7

» CAPS LOCK

» NUM LOCK

> SCROLL LOCK B
> Al <m




| What is a Firewall?

Rl T &7

» A wall to protect against Fire

» A software to protect from computer hacker
intrusions «¢m

» A software to destroy computer
» A wall to make partitions in computer




The process of transforming information wusing an

algorithm to make it unreadable by anyone is usually
referred to as:

fpdl <afh g1 38 HUSAIT I & ol Th
UeINRZH hT SUAIT hich SIADPRNI dcoled hl YUTehT

Pl TAGR W e & g & Ieiia fpar amar &:

» Decryption

» Encryption <=
» Alphabet Coding
» Encrography




&

Each IP packet must contain

Ucddh Sl Uhe # g §

» Only Source address

» Only Destination address

» Source and Destination address <=
» Source or Destination address




Which of the following is not the Networking
Devices?

[Arafafad d & Pl AcafchdT SURIOT T8 &2

» Gateways
» Linux <¢m
» Routers
» Firewalls




‘ What is shortcut of Date in MS Excel?
feeien & QM ol T &2

» CTRL+:

» CTRL+? PETn
> CTRL+; <

» CTRL+*




A is a device that forwards packets between

networks by processing the routing information included
in the packet.

Uh 3UPIU] § Sl Uche & e TBET AAapR)
Pl AT Hh Acdh & a1 Yhe Pl FANT AT &

> bridge

» firewall

> router <gm

» all of the mentioned




|dentify the odd one out of the following terms stated

below:

AT gamw T reel H A AwH B ugnfAv:

> Hypertext <=
> FTP

» HTTP

» SMTP




| Which of the following represents the fastest data

transmission speed?

fAFafef@a A 9 old ga8 dof 31 A
a1 gfafaiSca wid %?

» Gbps <m
» Kbps

» Bps

» Bandwidth




S

E-mail address is made up of

S-Fel Ud § 94T ¥

> Single part jackandjill@gmail.com

» Two parts <= / I \

> Three parts Unique User Name Domain Name
Sometimes chosen by company/organization i
the email account roviding the email service
» Four parts ==

owner




Examples of system programs includes
fa¥cH WardA & 3ol d M §

» operating system of computer
» Assembler

» compiler

> all of above <= Uity Software







What is the difference between mnemonic codes and

machine codes?

AFAIAD Pz 3R AMT P A FAT IR &7

» There is no difference.

» Machine codes are in binary, Mnemonic codes are in
shorthand English. <¢m

» Machine codes are in shorthand English, mnemonic
codes are in binary.

» Machine codes are in shorthand English, mnemonic
codes are a high-level language.




Pick the odd one out ?
g

> Mouse

> Lightpen

> Trackball

» Keyboard <=




o

Which of the following is not a type of key?

fAFAfalf@d # d Pl Th UhR Hr Foil 81 &7

» Alphabetic Keys
» Function keys

» Toggle keys

» None of these <=







@ What is the shortcut key to lock the computer in
windows

fdelist & HTgeX @ dlh Pl & forw 2
ol T &

» WINDOW KEY + | <=

» WINDOW KEY + R

> CTRL + I_ g(Zd.a§290August
» CTRL+ R




Ctrl + M is used to in MS Power point

Ctrl + M @&T 3UIT MS UlRUISE H
forT fopar ST ©

» New Presentation

» Create document |

> New Slide < | Fe—
> Right Indent




Features that displays only the data in column (s)

according to specified criteria?

%%gqafﬁﬁ mﬁlddsa q; HJAR hietH H hdel el

> Formula " 2|Himanshu
amitabh

hritik roshan

> Filtering <=

5|

. 5|Sachin

» Sorting S
8|

pinki

> Pivot

bill gates




' @ What is the software called that’s designed to exploit a
computer user and is a broad term covering computer
viruses, worms, Trojan, adware, etc.?
gg H¥CIY T § o9 PP SUAehdl Bl
AMYUT P &b oIy %dlsd fopaT STem . AR Y
digdd, worm , ¢ :
dTell Teh <ITdeh Qe 67

USdI, 3HIE Pl hal hia

A Malware <=
B Spyware

C Backdoors

D Key-logger




Which of the following transmission directions listed
is not a legitimate channel?

fAFafaf@a & @ a9 & R0 v geieg
T Sl Th dY A Al g7

e SIMPLEX
ire a
all ame M

» Simplex
» Half Duplex By Y oo
» Full Duplex

» Double Duplex <= 'j' B nuoma




. The address uniquely deflnes a host on the Internet.
CIFIT fafry U ¥ sexdc W ERC ol URHATNA
I

» physical
> |P <m
» port

74BN
» Specific 123.456.789.12
N\~




MAC Full Form ?

MAC &T QUT &T T BT § 2

» Media access control <=
» Multimedia access control
» Media access convert

» None of these




. In computer network nodes are

HTYCI Acdd H ABd 3

>t
>t
>t

ne computer t

ne computer t

ne computer t

nat originates the data
hat routes the data

nat terminates the data

> all of the above <=




a

link

network




Shortcut to select entire row in spreadsheet?
T # QU Ulth &l I A &b ToIU QAlcehe?

> SHIFT+ENTER

> SHIFT+SPACEBAR |
> CTRL+SPACEBAR = f
> CTRL+TAB :




Which function in Excel tells how many numeric
entries are there ?

THAel # BT T B T & b fhdel
J&ITcHAS gfafsar &2

D E F G H I J

» NUM
» COUNT <=
» SUM

=couwnq2:c14]
» CHKNUM

13

[ ]

~l

1
2
3
4
4
5
5
6
6
6
6
7
7




Workbook is a collection of

T T Uh TG &7

> Worksheets €= ¢
» Page set-up 2 Hore
> Buttons by =
> Diagrams

= Open

Info

- Blank workbook




Typed text showed in active cell and alsoin
ey fohan e ure @fhg de F fewrd &ar ¥
AR of femar © ,

fc

» Formula bar <=
» Ribbon

» Title bar

» Name Box




Another name for a pre-programmed formula in Excel

IS

Excel H Qd-UIITH U a0 I &1 g@ ATH

» Function «¢m
» Parameter

» Theme

» VLOOKUP

=SUM(B3:B12)




A function inside another function is known as ?

fpdY 31T ARl & 3HeX Bald & §T H JATAT
ST &2

» Round function

» Sandwich function
» Switch function

» Nested function <=




S

Shortcut Trick To Learn

AAP ST Nahin De Paoge

AAP ST Next De Paoge

Networking Devices : ROUTER.

Networking Devices : SWITCH, BRIDGE.

Networking Devices : HUB , REPEATER.

APPLICATION LAYER

PRESENTATION LAYER

SESSION LAYER

TRANSPORT LAYER

NETWORK LAYER

DATA LINK LAYER

PHYSICAL LAYER




Router operates in which layer of OSI Reference

Model?

T3¢ 0S| ey Alsd 1 fvg g & Farfead
Il ©7?

» Layer 1 (Physical Layer)

» Layer 3 (Network Layer) <=
» Layer 4 (Transport Layer)

» Layer 7 (Application Layer)




Repeater operates in which layer of the OSI model?
gd(ldcclcb(Repeater) OSI HISeT &l fohd Td H hIA
El;IE” %? APPLICATION LAYER

PRESENTATION LAYER

» Physical layer <gm SESSION LAYER
» Data link layer TRANSPORT LAYER

> Network | dyer Networking Devices : ROUTER. NETWORK LAYER

» Trans port Iaye B Networking Devices : SWITCH, BRIDGE. DATA LINK LAYER

Networking Devices : HUB , REPEATER. PHYSICAL LAYER




Which of the following layers is not a part of the OSI
model?

[AFIiofdd # 8 dld @ Wd 0S| HAIST
%WT aﬁ %? APPLICATION LAYER

PRESENTATION LAYER

» Application layer
» Transport layer

» Network Layer

» Internet Layer <=

SESSION LAYER

TRANSPORT LAYER

NETWORK LAYER

DATA LINK LAYER

PHYSICAL LAYER




| @ What is a set of unified design elements that provides a
look for your document by using color, fonts and graphics?

QEﬁIEf»F—I %3”33 C : Qel_c" ) hic
ke s wdmcgﬁ%jla;{% mqg?qulqmugg foT

Uh Aol Ucld hidl &7

» Highlight
» Format painter
» Line spacing




From what location are the 1st computer instructions

available on boot up?

gc AU P @B UIHA dPX Ay fha =
b 3y BT 872

» ROM BIOS =
» CPU

» boot.ini

» CONFIG.SYS




Laser printeris ?

oot e e 7

» Character printer
» Line printer

» Page printer <gm
» None of these




Speed of Dot matrix printer is measured in
sfc HAfearq e &r afa ot & AT
ST &7

> CPS <=
» LPM

» PPM

» DP]




It holds the address of the active memory in register ?
Ig oreey #A Gfera FAN T udr IWdr &

» MAR <=
> MBR

»> PC

» AR




Human beings are referred to as Homo Sapiens.

Which device is called Silico Sapiens?

B BTAT AT o §T & AT AT &
AT g 3UBIUT P Bl ATl &7

» Monitor

» Hardware
» Computer
» Robot <=




The circuit used to store one bit of data is known as

Uh € 3T &l TR Bl & ToIlv 30T fhu S drel
gfche &l el JA1daT §

» Register
> Encoder
» Decoder

> Flip Flop <




What is the full form of SIM?

SIM T QU T T §?

» Station Identity Module
» System Identity Module
» Subscriber Identity Module <=
» Subscriber Trunk Dialing




Where cache memory is located?
hel AANT el T 82

» CPU <=
» Monitor
» Scanner
» On file server




Where cookies are stored?
PhIST Bl TULT T ST &2

» On client computer <=
» On the server computer
» On website database

» None of these




o

Which protocol assigns IP address to the client connected
in the internet?

Pl T WeIhicl §cidc A I3 Follge Pl AU
ToH UGl &hid] %

7

» DHCP <=
> P

» SMTP

» HTTP




How long is an IPv6 address?

IPv6 UdT hd ddb &7

32 bits

128 bytes
64 bits

128 bits <=




@ Which of the following device is used to connect two
systems, especially if the systems use different protocols?

aff@a & O &ld I 3UeoT & Yumiordl ol
e & foT 3 fopar Srar &, @EaY 3R
TreeH AP Melhial T SUAIT HId &2

» Repeater

> Gateway <=
» Bridge

» Hub




. In computer network the two local area networks can be
Jomed by usmg

bga o-ICCJCb A ol T &7 Acdd T

PH{ch IS Hhd ©

» Routers

» Backbones
» Bridges «m
» Gateways




Communication channel is shared by all the machines
on the network in
IR Aol Pl A dcad & gl
AMAT gRT 1 fhaT AT &

» broadcast network <=
» unicast network

» multicast network

» anycast network




Which of the following allows a two-way connection

oriented communication over a network?
@ A @ dld Th Acdh T I-dIwl
AU Sed@ AR I AT &l &2

TCP <=

UDP

Both (a) & (b)
None




*

ADSL is the abbreviation of

ADSL T JUT ¥ &7 &Il & ?

» Asymmetric Dual Subscriber Line

» Asymmetric Digital System Line

» Asymmetric Dual System Line

» Asymmetric Digital Subscriber Line <=




VLOOKUP function used to ?

VLOOKUP WerRlel ohl

» Finds related records <=

» Looks up text that contain "v"
» Check if two cells are identical
» None of above




@ What are the names of those programs, that run your
website get data from the website and store in search
engine database?

31 UIITAT o ATH AT &, Sl 3Tl dgdHse delld &,
;ﬁ;gsgﬁ%aumaﬂﬁ%ﬁ?ﬁﬁﬁmﬁ@?
2

Java script written by the webmaster
Antivirus Software

Device Driver

WebCrawler <=




Which protocol is used on the internet to transfer file(s)?
m TATATIRT P & Tl gcide W by
T 3UAT ThAT SATAT 82

> FTP <=
> HTTP

> HTTPS
> TCP/IP




Error finding and correction in the program is known as?
MIATHA A TR BB I IR & FT A ST ST
¥

» Bug Finding

» Debugging <=
» Hacking

» Correcting




Which is used to transmit data from one device to
another in computer CPU?

P HIUY # 3 A T farsq 4
H AT A & forTw 6 qulu?fl‘ﬂ E{\q;TaT%?

» Fibber Optic Cable

» Data Cable

» Bluetooth Technology
» Data Bus <=




. =) A device which is responsible to perform Modulation
and Demodulatjon process?

Th SUBIOT SN mgq?m?r 3R TSAISTeIAT
UThAT Pl A &b SFer &2

» Server System
» Network Switch
» Modem <=

» Hub




Which OSI layer is closest to the end user?

PIT-H 0S| W 3AA 3UANTRAT & Fad
[GETAEY:

» Physical Layer
» Data Link Layer
» Network Layer

> Application Layer <=




Which is used to protect network from outside

attack?

Jeddh Pl IRy 3hAUT F JdT & Tow gl
UeT T ST § ?

» Antivirus

» Firewall <=

» Disk Cleanup Utility
» None of these




. DHCP stands for

DHcpasrtLU‘rrcraFaT%’laT%

» Dynamic Host Communication Protocol
» Dynamic Host Configuration Protocol <=
» Dynamic Host Configuration Process

» None of these




What is the alternate name of LAN, which is family of

protocols in wired LANs?

ol @l dopfedesh aTH T &, Sif di¥s ofd &
URAR &l &2

» Ethernet <=
» MAN

» WAN

> |EEE 802.3




‘ World wide web was proposed by
des d138 dd [hdc gRT UEdrdd foham ar=am a7

Bill Gates

Bill Rogers

Tim Berners Lee <=
None of Above




o

.NET domain is used for

NET 1A &7 303197 & forw frar Jrar &

» educational institution

» internet infrastructure and Service Providers «g=
» International Organizations

» None of these




Encryption and Decryption are the functions of

layer.

Tiehtld AR fSfehtera d &
B gl

» Transport

» Session

» Physical

» Presentation <=




&

Which of the following is not a domain suffix?

e & @ i I 3T UcTT 80 67

> edu
> org
» com
> int <m




FORTRAN programming language is more suitable for

9T YT R forw 316 3Ue

» Business Applications

» Marketing Applications
» Scientific Applications <=
» None of the above




Inserta ___ toillustrate and compare data.

gel &l AT A 3R Joldl B & fow Th
___ T AT W

» Hyperlink
» Footer
» Header
» Chart <=




&

we cah see the status of the document.

A T cEadsT fr IS @ g T

» Menu bar

» Status bar <=
» Ribbon

» Title bar




Which of the following is a pointing device that uses light

to determine mouse motion?

fAeafo@a & & &id ar te uisfer 2asy &
mﬁaﬁﬁ%wﬁ%ﬁtwe?w
ST HIAT &

» Trackball

» Touch screen

» Optical Mouse <=
» None of the Above




Which of the following is the first calculating device?
AT H F Pl Ugell IOTAT P dTel

SUHIOT &7

Abacus «m
Calculator
Turing Machine
Pascaline




Which of the following is also called translator?
fAFafoiad # & fhd 3HcJdige hal Sl &2

» Data representation
» MS-DOS

» Operating System

> Interpreter <=




Junk e-mail is also called

Junk 3-FeT I i el JATAT ©

> Spam <=
» Spoof

» Spool

» Caching




Tally is an example of a
Tally Bl Th 3CIedul ©

» Horizontal Software <=
> Vertical Software

> Freeware
> EULA




. The first computer was programmed using

gl quq\c{ HTNT P alXT U ﬁh_?ZIT
IgT AT

» Assembly language

» Machine language <=
» Spaghetti code
» Source code




All the components of a computer are either

or ;
hTYcY & FHT Tgch et

» software, CPU/RAM

» application software, system software
» hardware, software <=

» input device, output device




Which of the following code detects and corrects

error in data?

fAeafoi@d & @ »ld a1 dIg a1 H & @
Ol 9Tl & 3R 38 Hel Bl ©7?

» Windows
» Hamming Codes <=

» Encryption
» All of these




@ Consider the following:
fAeafafad @ g & I@d gu:
i. C++
ii. C
iii. COBOL
Which among the above is/ are High-Level Languages (HLL)?

SUUH H H Pid-O7 3TI-TAT ATET (HLL) &2
» Only i

> Both i & ii

> Alli, i & iii <

> Both ii & iii




‘ In which view Headers and Footers are visible
fehE View #H =X 3R HX fe@rs ¢d &

» Normal View

» Page Layout View

» Print Layout View <=
» Draft View




HTTP port number

HTTP O e

> 80 <=
> 123

> 25

> 125




An error in a computer program is called ,
cjjuic( A gﬁ: Gl chol alidl

el

» Crash

» Power failure
» \irus

> Bug <=




Which of these network topologies have all the

network nodes connected directly to each other?
S ¥ Pl W Acad Uldisl # FIH dcdd
AsH Th g T Y 33 U &?

» Bus
» Mesh <=
» Star
> Tree




@ While sending an email, if an email address is put in to field,
L the person will get a copy of the email but no other recipient will
see the email address that was put in the above field.

éﬁﬁaﬁaﬁ AT, e TH UdT fres I el
Tﬁﬁaﬁéﬁﬂiﬁf
a—a%rraav—d‘rméﬁ?ruﬁ S ST 3w Pre

STell 91T AT |

» Cc

> Bcc <m
> Junk

» Subject




A communication network which is used over

regional, national or global area IS
Uh IR cdd foddl 3UANET &9, TET I
df8p & A fhar Jrar §

> LAN

» WAN <gm
» MAN

» VAN




How many bits are there in MAC Address.
Ad Ud A fhaa Oea ga 2

> 48 4=
> 32
> 128
> 64




| . WhICh of the given combinations of File type and its
extension is incorrect?

FSd UhR AR 38h TaFHedd & fgu v
Tl F @ Bl a1 el &9

» MS Word — .doc

» MS Excel — .xls

» MS PowerPoint — .ppt
» MS Outlook — .out «gm




@ The cell reference for a range of cells that starts in cell
D2 and goes over to column F and down to row 12 is?

@Hﬁrwﬁvﬁasﬁtr@ﬂé‘dafra’rmmﬁ
Q«W%WWFWW% J @

t 12 deb Slldl %?

> D2:F12 <=
» D-2:F-12

» F12:D2

» F-12:D-2




. A directory within a directory is called
th fAEREr & ARk e AER@ o

dnel ST ©l

» Mini directory

» Junior directory
» Part directory

» Sub directory g




POP denotes
POP T QUT &U T &I

» Protocol on Protocol
» Popular Office Program

» Post Office Protocol <=
» Post Office program




(111011),

‘ER
> 71
> 72
»> 70




